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#include<bits/stdc++.h>
using namespace std;

/) s[1]ZEFEFABEEKSFEREE (0~9)

/) TR FELHGEFHE: 0568, 1821, 255/, LUKERE
int s[10] = {6, 2, 5, 5, 4, 5, 6, 3, 7, 6)};

int n; /! BABIKEERERE

int ans = 0; // FEEFFHFALEE
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int fun(int x){

int sum = @;

if(x < 18){ // ZExETTE, EFNLILFTE

§ sum = s[x];

} else { /] ExEBELE, FiiEHEW

5 int t = x; [/ B EEFEx, FTHEEZE—A

while(t 1= @)

| sum += s[t ¥ 18); // EHEE—(IFF, FEIWNR KSR
= t /= 16; [/ BERE—(
-}
}

return sum;



int main(){
cin » ny; [/ BAKSERLE

[/ HEETEFN (1) FB (G)

// BERA0~1000: I mBA24, ZEIEMFEIUR, FKL20/R

// A. B, CHIASFZR BT ET20, FEFFIEAAX, 1000.EFE=FTE 7] 55
for(int i = @; i <= 1000; i++){

’ fur(int j =0; j <= 1000; j++){

intc=1i+73; // H8C = A + B

// #ﬁﬂ B, CAIAZEREZE, ZEFETn-4 (FHWMEMEEELEZIR)
if(fun(i) + fun(j) + fun(c) == n - 4){

. ans++; // AEFES, HEIm

}

}
cout << ans << "\n"; // BHAFSEMFHEILEE
return 0;



